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i What is the name of the lake between the Godavari and Krishna river deltas near the city of Eluru in
Andhra Pradesh?

| A | Sudarshana lake | B. | Pichola Lake | €. TKolleru Lake | D. [ Loktak Lake

2. Which of the following animal is found in the forests of Darjeeling?
|A [RedPands 1B | wid Ass | C [ Zebra | D. | Olive Ridley Turtle

3. | For which book Rabindra Nath Tagore received the Noble Prize 7
, 28

1

A. | Gora_ 1B | Geetanjaii |c. | Gitimalya | D. | Ghare Bare

4. In which of the following period was ‘Suez Canal', one of the most important trade routes in the

world opened? ;
A. | 1841-50 | B. | 185160 ¢ [18s170 , [ D. [ 187180
5 | The only gi%ﬁa% .é:si the solar system which rotates from east to west is -
_LA | saturn i8] Jupiter  1cC [Venus | D. | Neptune
6. | Maginot line exists between which caﬁnts‘y? e
A. | Namibia and Angola B iUSAand {C France and D. | Germany and
: A Canads Germany | Poland
7 Which among the %éé%ﬁwing is 2 warm ocean current of f"i‘i}&?&t’éﬁc Ocean’?
A. | KuroshioCurrent | 8. | Humboldt £ Canaries Current | D. | Labrador Current
o Current . :

8, The disease ;%ﬁi.sw;f is caaégd éuﬁ to the éeﬁs%zémy of &#ﬁiﬁfiﬁ; mmm;ﬁ?

i

A | vitaming /B Tviemine  |c | Vitamin A 1 D. Tvitahin o

9. | The disease Cataract affects which part of cur body?

A ] Kidney = Ig | Heart i ic 4 Lungs I D. | Eye

10. | Lohri, the harvest festival, is celebrated in which Indian state?

A | Assam B [Meghalaya  [C | West Bengal | D. | Punjab

11. | Which vitamin helps in clotting of blood in our body?

A. | Vitamin K | B. [ vitamings | c Vitamin D | D. | Vitamin B1
i i L8 ] ] il i vitah .

12. | Which Mughal Emperor was defeated by Sher Shah Suri?

A. | Babur | B. | Humayun | C. | Akbar | D. | lahangir
13. | Who is the chief architect of the indian Constitution?
A. | Bhimrao Ambedkar | B. indiraGandhi [ | lavwaharlal D. | Rajendra Prasad
Nehru




14, | Whoisalso knﬁwn as t?’ae iron Man of India? oy ,
A, 1 Subhas Chandra B. | Lal Bahadur | C. Sardar D. | Bhagat Singh
Bose Shastri Valiabhbhai
Patel
15. | in which year did the Quit india %’;sveme*st start? , :
A. | 1945 | B. | 1930 [C. 11939 1 0. | 1942
16. | Whowona gold medal at the Peru Para-Badminton %ni:&sﬁammi Championshio in December 2022
A. | Sukant Ka&&m : B. | shivaThapa | C. Satwiksairaj 0. | Sagar Dangi
~ e Rankireddy ‘
17. to host Cricket World Cup 2023. o
A. | England | B. | Australia [c. TsouthAfrica | D.]india
18, ?‘sgsmftgs National Park is g@zwteé i which state?
A. | Madhya Pradesh | B. | Gujsrat 1 C | Punjab | D. | Assarn
18, s&fi%@ is %&a@ﬁgst{%@ inventor of Comp ter? :
| A | Charles Babbage | B. | RogerBacon | C. | JjosephAspdin | D. | Tim Treiling
120, | Which of the following is not a Union Tef;%ﬁiéfy o
A jladekh =~ IB. Chandigarh | C. | Jammuand D. | Sikkim
b e L Kashmiy -
21. %‘@ma the | zangaag% t%*;a%‘ is w;«:imigg sm:f an by ??z& ;}%gﬁé residing in Kerala.
Afosw . i8] | Hindi_ | C. | Konkani I D. | Malayalam
22. “”%‘%& Little 53&{ $§ g‘* s au i%}aréé by whom? il : 7
A. | Dalai Lama 1B | MeghnaPant | C. | IKRowling 1 D. | Amitav Ghosh
23, | Name the first Prime Minister of India who served the office {15 August -~ 27 May 1964) until his
death, : L o
A. | GulzarilalNanda | B. | Jawsharlal § C Rajendra Prasad | D. | Lal Bahadur Shastri
| Nehru , g
24. | Which river is also %{%%faf% as Dakshin %aﬁga? - e
| A | krishna |B. |Cauvery  lC | Godavari | D. | Mahanadi
Zi%,' %&f&ﬁ% of ti«s i‘ai;ﬁagmg are mz:: major mmmﬁeﬁis of dry a?{i:% Ve a&mﬁ?} ' ,
A. | Mitrogenand B. | Oxygenand €. | Mitrogenand D. | Oxygenand
Oxygen o Argon Ammonia Carbon-dicxide
26 < is %ﬁéﬁgz gﬁ% gs:‘fgzie train @%ﬁ%i‘i&iﬁ by g%{{i’f’ C :
A, i B. i Lucknow - C. | TYejasRajdhani | D. ﬁﬁi}%‘*‘aiﬁés CSMIT-
few Deihi 2
ax@mss | Tejas Express
27. %i%ef%z is the ﬁ%aéqaaﬁﬁfs of South Western Railway?
A. | Chenn 1 B. | Secunderabad | C. | Kolketa 0. | Hubl

i
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28. | Who tabled the Economic Survey 2021 in the Parliament? ;

A. | Prime Minister- B. | Finance 'C. | Health Minister- | D. | Vice President -

MNarendra Modi Minister - Dr. Harsh Venkaiah Naidu
Nirmala Yardhan
i Sitharaman

25, | in which sector did the union minister launch the ‘Smg%s Window Clearance System’ ¢

A, | Coal Mines | B. | DISCOMS | C. | Steel Plants | D. %,cag;pm Mines
30. | ‘National Safety Council’ was set up by which Union Ministry?

A. | Ministry of Heaith B. | Ministryof C. Ministry of D. | Ministry of Heavy
and Family welfars Labour Commerce and industries
industry
il ; N
31. ?éh;z::% of the given below words spelt correctly? ‘ ;
Al %ssﬁg%r | B. | Passenger | C. | Pessenger | D. | Pasanger
‘ a2, W?ﬁﬁ” of the g%&*‘?ﬂ b@k}w Wards spelt {:cfmc‘ziy
Alforast ™ 18] ?ﬁf&aste .| C. Forecast | D. | Forecaste
33.

[ D. | her

| D. | she

The windows

Al sparkle

| D. | will sparkle

35.

% *re ’sﬁ«m& %;efafe@ -

A | ?%ad completed 8* i mmgﬁaimi g7 | complete | D. | have completed
37. | Filiin the blanks with the appropriate word from the given options.

The penis ..........than the sword.

A. | might | B. | mighty { ¢ | mightily | D. | mightier
38, he blanks with the opriate word from the given options.

Do w w@ %&yﬁs i %az;é ?@f 3 f@%"iﬁigi‘%f"‘

A | j ahy I B. | sufficient 5 [ C | | indeed {D. | many

Fill in the blanks zmsg :

38. | Wemet ............ European girl in Rishikesh,

Atan T T IR Ta [ C | the D, |in




40, | s old man wanted to see you in the morning.

A | An [B.]A lClis | D. | The
41. | Readingis ....... good habit.

A. | the | 8. lin lc |a | D. | an
A2, o market will remain closed for two days.

A. | The [B. [A | C. | An ID.|is
N A —— ink in my pen is red.

A |A N |c. | An | D. | The

Select the English word which is nearer to the meaning - Synonym

44. | Abandon

A. | Excitement | B. | Hold | . | Respond | D. | Desert
45. | Intuition

A. % Curse f B. | Instinct ; = § Depression % D. | Dimension
46. | lgnore

A. | Disregard | B. | Accept | C. | Give | D. | Complete
47. | Nourish

A. } Courage i B. i Read ; C. | Nurture { D. } Remain .
48. | Vibrant

A. i Dynamic i B. % Raise | C. i Stable i D. | Stay
49. | Gather

A. ! Refuse | B. 2 Assemble } | Decline l D. | Reject

Select the English word which is opposite to the meaning — Antonym

50. | Companion

A. I Friend i B. § Escort | C. | Opponent | D. | Buddy
51. | Vanish

A. | Fade | B. | Go | c. | Lighten | D. | Appear
52. | Relevant

A. l Unrelated i B. { Significant % C. % Appropriate E D. i Important
53. | Callous

A. | Compact § B. | Hardened % C. | Heartless | D. f Soft
54. | Impede

A. | Obstruct | B. f Delay | C. | Facilitate | D. | Hinder
55. | Distill

A. | Refine | B. | Dilute | C. | Purify | D. | Condense




55, | Afemge of the first five multiples of 9 is B S
A 120 {8127 " TcTs0 ID. |36
57. | Solve 240:8+2 1 i evi o
{A J2a o Bha T I TNES IEE
%% The *ﬁuwz{;fmz;x%xzﬁﬁxé is ; -
gaﬁ@e .18 4000 o fe g | D. | None of these
59. | The speed of the train going from Nagpur to Allahabad is 100 kmph while when coming back
gﬁaﬁaé to Nagpur, its 5;3&%@ is 150 krnph. ?%sfé *‘%s avaz’agﬁ speed for whole journey.
A {100kmph T8 [120kmph € | 150 kmph | D. | 125 kmph
60. | Find the mtﬁ of interest s§ ::ﬁe amount aﬁer 2 years of s*mgg?e interestona z:agazta? of Rs. 1200 is Rs.
| 1440. , : o ,
A le% isw ;a% o u: [10% §'§, | 12%
61. | Rs.1200is lent out at 5% per annum simple mﬁeras* for 3 vears. Find the amount aftez 3 vears,
i iagzﬁaa ¥affzs,-z§9 _lc [rs1470  [D. [Rs1200
62, i:‘ Three numbers are in mtiﬂ 1_ 2:3and} ‘-ﬁi:? es; ;2 The gambﬁys are: :
; ﬂ 12,2436 ~ I8 733 Jc 122835  Tb [51015
83. | Two numbersare m the ratm 3 4. f %‘*‘zmr LCM is 240, the ﬁmaﬁef az t*wc nxzmi}a{ is
A {100 eimlee 7 AT RS . T Ih 150
64. | Solve the finear equation S o
ik . ”{ii}xm}.’{}} ;gm’-i
Ala BT i iswf R T
5. | The famﬁi& f:}f%ﬁﬁ gﬁﬁmﬁtemfaz rasm:zgis ; ;hfﬁ%’i %:v;s P =2t + 2w, where| is the length and w is
the width. Assume the perimeterof 2 rectangular plot of land is 480 m. The length is twice the width,
F%ﬁﬁ the wmg*t?z of the rectangular plot of land.
CiATE0m IR %;zﬁm | ¢ | 160m 1D { 240m_
66. | The ?yt%}agmrean Theorem for a right triangle is a? + b? = 2, where 3 and b are the legs of the
+ triangle and ¢ is its hypotenuse. The shorter leg is 10 cmn less than the other leg, and the hypotenuse
is 10 ¢ longer t&ag that other leg. What is the ength of the hypotenuse?
‘ %ss&:m“’ §3§m [ ¢ [50cm [ D. | 60cm
67. | Write t%w *&q%f%tfﬁﬁ of the line gass;*ng z:%smﬁg%x the point {-3,7) with slope zero.
1A ] x=-3 |B] =~3 JC| ¥=79 10} y =7
63. | Which of the following pairs of §s§nts has slope 2/9 7

A l03)and@7 B [(.2)and 3.7) [C | @23)and (71) |5, | Bhand (72)




69. | Solve the foliowing absolute value equation.
j2x + 11} =7
A | {2} | B. | {9 lc. |§2/9 [ D. | No solutions
70. | Solve the following equation
; 3w +13 =x +1
A. | {3} | B. | -4} [c [£3,4 [D. | No solution
71. | A car dealership uses the linear model y = —11000x + 250000 to predict the depreciation of car
values{in Rs} as time progresses. if ¥ is how old the vehicle is in years and y is the current value of the
vehicle(in Rs), what will the value of the vehicle be 5 years after purchase?
A. | Rs.184000 | B. | Rs.195000 [ . [ Rs.227000 [ D. | Rs.239000
72. | The side of an equilateral triangle is -— cm. The perimeter of the triangle Is
T (A l1om 8. ] 2em T JC [ 2em . [Tem
| | 2 ! 8
73. | Whatis f; of 5{— ?
A 1 B 2 C. 4 D. 5
3 3 3 12
74. | 1.44+1.2 isequalto
A |12 lB. |12 [c {012 [D. 112
75. | The ratio of the measures of the three angles of a triangle is 2 : 3 - 4. The measure of the largest
angle is
A. 80¢ B. 50¢ £ 40° D. 1807
76. | Which of the following cannot be the sides of a right triangle?
A ; 2cm,2emdcm § B. i S5cm,12cm,13cm ; G § 6o, 3cm, 10cm i D. % 3em,4cm,5cm
77. | Which is the smallest 4-digit perfect square?
A. | 1024 | B. | 1025 | C. | 1000 [p. | 1016
78. | How many digits will be there in the cube root of 466567
A |2 ENE lc. |3 [p. 14
79. | How many vertices does a pyramid with square base have?
A |5 IB. |4 [c |3 [D. |6
20. | The cost of the article was Rs. 15500 and Rs. 500 was spent on its repairing. If it is sold for a profit of
15%. The selling price of the article is:
A. | Rs.16400 | B. | Rs.17400 [ . | Rs.18400 | D. | Rs.19400
81. | 43
-V V@E Equals:
A. -1 B. i o -6 D. 6
3 36 ; X

~d




82.
The value of (1(})
A | 1/4 | 8. |12 |C |4 [ D. |1/16
83. | The linear equation 3x-11y=10 has
A. | Unique solution B. | Two solutions C. | infinitely many D. | No solutions
solutions
84. | The graph of the iinear equation 5x + 3y = 10 is a line which meets the x-axis at the point
| (0,3) 8. [3,0 [c |20 [p. 1(0,2)
85. | if ABCD is a trapezium in which AB || CD and AD = BC, then:
A | zA =B |B.| 2A>¢«B Jc | 24 < B | D. | None of the above
86. | If a triangle and a parallelogram are on the same base and between same parallels, then the ratio of
the area of the triangle to the area of the parallelogram will be:
A |12 ENES Ic. T14 Ip. [13
87. | Adiceis thrown. The probability of getting 2 or 6 is:
A. | 1/6 | B. |2/3 = NE Ip. |12
88. | The probability of drawing an ace card from a deck of cards is:
A | 1/52 B. | 1/26 lc |4/13 [D. |1/13
89. | The median of the data: 155 160 145 149 150 147 152 144 148 is
A. | 149 | B. | 150 %' | 147 |D. | 144
90. | Themeanofthedata2,3,4,5,0,1,3,3,4,3is
A |23 |B. |26 lc |28 ~ |p. |29
91. | if the radius of a cylinder is 4cm and height is 10cm;, then the total surface area of a cylinder is:
A l 440 sq.cm { B. é 352 sg.cm § C. § 400 sg.cm % D. % 412 sg.cm
92. | The surface area of a sphere of radius 14 cm is:
A. | 1386 sq.cm | B. | 1400 sq.cm | C. | 2464 sq.cm | D. | 2000sq.cm
93. | The sides of a triangle are 122 m, 22 m and 120 m respectively. The area of the triangle is:
A. | 1320sq.m | B. | 1300sq.m | C. | 1400 sq.m I D. | 1420sq.m
94. | A man covers half of his journey at 6 km/h and the remaining half at 3 km/h. His average speed is
A. | 9km/h | B. | 4.5km/h | c [4km/n | D. |3km/h
95. | Aruns twice as fast as B and B runs thrice as fast as C. The distance covered by Cin 72 minutes, will
be covered by A in:
A. | 18 minutes | B. | 24 minutes | ¢. | 16 minutes | D. | 12 minutes
96. | Aman starts climbing a 11 m high wall at 5 pm. In each minute he climbs up 1 m but slips down 50

cm. At what time will he climb the wall?

A. | 5:30PM [ B. | 5:21PM | € | 5:25PM {D. |5277M




87. | The area of the circle that can be inscribed in a square of side 8cm is
A | 36mem? {B. |  16mem? c | 12mem®* D | 97 cm?
98. | The area of the square that can be inscribed in a circle of radius 8 cm is
A. | 256 sq.cm | B. | 128 sq.cm | C. | 642 sg.cm | D. | 64sq.cm
88, | Given that the mode and mean as 7 and 8, respectively. Then the median is:
A. | 1/13 | B. | 13/3 lc [23/3 |D. |33
100 | Aflashlight has 8 batteries cut of which 3 are dead. If two batteries are selected without replacement

nd tested, the probability that both are dead is

A. | 33/56 | B. | 9/64 lc l1/14 | D. [3/28

i




Answer Key of Suitability Test for NTPC/Skilled Artisan Category Under

ggmgassionate Grounds Appointment Dated 12/12/2022

1 C 31 B 61 A 51 B
2 c 32 C 62 G 92 C
3 C 33 D 63 C 93 A
4 C 34 A 64 D 94 C
5 C 35 B &5 C 95 D
6 C 36 A 66 C 96 B
7 A 37 D 67 D 97 B
8 C 38 B 68 C 98 B
9 D 39 B 69 C 99 C

10 D 40 A 70 C 100 D
11 A 41 C 71 B

12 B 42 A 72 C

13 A 43 D 73 ¢

14 G 44 D 74 A

15 D 45 B 75 A

16 A 46 A 76 A

17 D 47 C 77 D

18 D 48 A 78 A

19 A 49 B 79 A

20 D 50 c 80 C

21 D 51 D 81 B

22 A 52 A 82 B

23 B 53 D 83 C

24 C 54 C 84 €

25 A 55 B 85 A

26 B 56 B 86 A

2 D 57 B 87 C

28 B 58 C 88 D

29 A 59 B 89 A

30 B 60 C 90 C
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